1.1

103km

55

200

1/2,300
17220 390

474

20

1,000m

200

1,800

1/730 930

460m

18km

1,210km?

27

460

60

70

80

80

100

172300

/%0

17130

1/70

17390

120

1130

1/1000

/300

1.1.1



’Nmm W
1. JIEN "

= 1Ty

EHE

s

1.1.2
(mm) (
350 1 30
L == ]
300 f 12
: —
250 F
[ — ( ) 1 20
200 |
[ . 15
150
i 110
100 F ]
| m |
o L 1 1 1 1 1 1 1 1 1 1 1 ] o
1.1.3
4 13 (10 )




10

20

1.1.1

90

12

3.9

35

11.3

0.9

1.1

1.1

1.8

51.4

29.5

19.2

)

(



600

500

400

300

200

100

7]

=]

600

500

400

300

200

100

1.1.4




= e
NN
=

1688 1860 173
62

1.2.1



i §_I .-
> Ei i|'ui!|..il!- ll
Y ARAE g
! .'-jri}-”i'ir"!




1.2.2

11 12
45 18 19
20 65
26
29
1.2.1 1.2.7
1.2.1
) ¥
18 24 5,400 1 57 27 2,800 13
20 18 5,000 2 62 18 2,500
38 10 2,200 63 25 2,400
40 17 2,900 24 19 2,200 22
45 21 3,200 10 28 2,500
51 11 2,200 17 2,400 13
55 2,200 2,900
57 24 2,000 10 10 18 2,400 10

1.7m




+ e Y
Frrg
HlrE

123



1.2.7 9 10 13 18
20 25 28 29 57



35

36
43

48 17100
50
46 48

57

14 18
19 42

60

HEARARETIE E R TR B - ERRWRERM(ERLY)

1.2.9

10



L.

4 £ 95 T AT P \

"'\-\.
|I S # .
S8~ 60 oy T
saommimy [1h . 880 .
L 53 P |
T - J £20=136
4 ‘ﬁll?iiii Vo
= il

X s -,
e, - | 530EH |
Ve —=lsior
— | ECE
1.2.1
768 429
11

1.2.10

11



sgsa KNERE,
= Ha

SR o B —-_IRR
JRL o Qe
LTk bl
Y e AP BAIOE

.
[ L
W AF— a2

J R | S— MRS

1.2.2

12

11.8 1.4 1.6

1.2.11

12



BEINDEIKDZEZE

1600 4
| [Z
mmgm?§H

1603

£5
ARES

ST ama i

50y 1868 _

Lwiﬁl.
RN ASE BRIk (AR

ERF0105F ﬁﬁ##mﬁiﬁhgiﬁﬁﬁ]llIﬂ
WEEAR & PR L. REN|cOEEEEELE (CF

B3 1912

ka1 926

FEF205 #rk

FRETEET A Mo midR o & Stk

ARG b

e S B
HRISERANERRE

1.2.3

13




1.3

30

42
90

57
me/s

0.8m°/s

20

1.3.1

14



